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Which one of the following is the correct order of spin — only magnetic moment for the given complexes?
(1) [Fe(CN)e]* > [Co(H206)]%* > [MnCle]*
(2) [MnClg]* > [Fe(CN)e]*> > [Co(H20)e]?*
(3) [MNnClg]* > [Co(H20)6]?* > [Fe(CN)e]*
(4) [Co(H20)6]?* > [MNClg]*> > [Fe(CN)e]*

The type of isomerism shown by the complex [CoClz/(en)z] is :
(1) Geometrical isomerism (2) Linkage isomerism

(3) lonization isomerism (4) Coordination isomerism

Match List—I with List-II

List-I List-I

(Complexes) (Types)

(@) | [Co(NH3)sNO2]Clz and [Co(NH3)sONO]CI:2 (i) | lonisation isomerism
(b) | [Cr(NHs)s]Co(CNs)] and [Cr(CN)e] [Co(NH3)6] | (i) | coordination isomerism
(c) | [Co(NH3)s(S04)]Br and [Co(NH3)sBr]SOa4 (i) | linkage isomerism
(d) | [Cr(H20)6]Cls and [Cr(H20)sCI]Cl2.H20 (iv) | solvate isomerism
Choose the correct answer from the options given below :

(1) () — (iii), (b) — (i), (c) — (i), (d) — (iv)

(2) (a) — (ii), (b) — (iii), (c) = (iv), (d) — (i)

(3) (a) — (iii), (b) —(ii), (c) — (i), (d) — (iv)

(4) (@) — (iv), (b) — (iii), (c) — (ii), (d) — (i)

Type of isomerism exhibited by compounds

[Cr(H20)6]Cls, [Cr(H20)sCI]Cl2.H20, [Cr(H20)4CI2]CI.2H20 and the value of coordination number (CN) of
central metal ion in all these compounds, respectively is:

(1) Geometrical isomerism, CN=2 (2) Optical isomerism, CN=4

(3) lonisation isomerism, CN=4 (4) Solvate isomerism, CN=6
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5. Which of the following complexes is used to be as an anticancer agent ?
(1) mer-[Co(NHz)3Cl] (2) Cis - [Pt Cl2(NH3)2]
(3) cis - Kz[Pt Cl2Br2] (4) Na2CoCla
6. Which of the following statement is false ?
(1) Mg?* ions are important in the green parts of plants.
(2) Mg?* ions from a complex with ATP.
(3) Ca?* ions are important in blood clotting.
(4) Ca?* ions are not important in maintaining the regular beating of the heart.
7. Which of the following has longest C—O bond length ? (Free C—O bond length in CO is 1.128A)
. ©
(1) [Mn(CO)s]* (2) Ni(CO)4 3) [Co(CO),] (4) [Fe(CO)4J2-
8. An example of a sigma bonded organometallic compound is
(1) Ruthenocene (2) Grignard's reagent (3) Ferrocene (4) Cobaltocene
9. Iron carbonyl, Fe(CO)s is :
(1) tetranuclear (2) dinuclear (3) trinuclear (4) mononuclear
10. Ethylene diamineteraacetate (EDTA) ion is :
(1) Unidentate ligand
(2) Bidentate ligand with two "N" donor atoms
(3) Tridentate ligand with three "N" donor atoms
(4) Hexadentate ligand with four "O" and two "N" doner atoms
11. The order of energy absorbed which is responsible for the colour of complexes
(A) [Ni(H20)2(en)2]?*
(B) [Ni(H20)a(en)]?* and
(C) [Ni(en)s]**
is
(1) (©)>(A) >(B) (2) (B)>(A)>(C)
(3) (A)>(B)>(C) (4) (C)>(B) > (A)
12. The number of bridging carbonyl groups in [Coz(CO)s)and [Mn2(CO)10), respectively are
(1)2and 2 (2)2and 4 (3)0and 2 (4)2and 0
Answer Key
1. 3) 2. Q) 3. 3) 4, (4) 5. (2) 6. 4) 7. 4)
8. (2 9. 4) 10. 4) 11. Q) 12. (4)
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